	A Summary of Events 1914–1941

1914–17           
     Russia is ruined by entering World War I.
March 1917     
     February Revolution; Nicholas abdicates.
Mar–Nov 1917 
     Provisional Government (Kerensky)
November 1917           
     October Revolution (Bolsheviks)
1917–1924       
     Lenin in power
     Civil War and War Communism
     Kronstadt mutiny and the New Economic Policy
1924–1941       
     Stalin comes to power
     Five Year Plans, Collectivisation and Purges.  
	


Summary

	Strengths

1.  The Peasants loved the Tsar as ‘their father’, and revered him as empowered from God – though this was shattered in St Petersburg in 1905, when the Cossacks attacked a peaceful demonstration (Bloody Sunday).
2.  The Romanov dynasty had ruled since 1613 – the 300th celebrations saw a wave of popularity for the Tsar.   In 1905, there had been a revolution and Nicholas was forced to accept a Duma 
 (parliament), but it had no power and the Tsar dismissed it if it disagreed with him.  
3.  The church was powerful and supported the Romanov government.
4.  Government and the army were controlled by the nobles and supported the government, which used the Cossacks to put down protests (eg Bloody Sunday 1905)
5.  The secret police (Okhrana) and press censorship.
6.  There were two parties in the Duma which supported the Tsar:

· the 'Rights' (called by Lenin 'the Black Hundreds') - deputies who so supported the Tsar that they wanted to abolish the Duma and restore autocracy.
· the 'Octobrists' - during the troubles of 1905, the Tsar and his chief minister Witte had published the October Manifesto, which promised freedom of speech, no imprisonment without trial, and a Duma to approve all laws.   The Octobrists were supporters of the Tsar who did not want to go so far as to restore autocracy, but wanted him to keep to the October manifesto.
 


The strengths of the Tsar's government were those usually found in an autocratic regime - Church, army, a repressive secret police and the unthinking love of the peasantry.
       The weaknesses of the government lay in its incompetence, in the huge size and economic poverty of Russia, and in the pressures coming from a modernising world - i.e., from a middle class which had already in 1905 forced the Tsar to set up a parliament (the Duma), and from extreme political groups which wanted even more radical changes.
	Weaknesses

1.  Russia had been humiliated in a war with Japan, 1904 (why?).
2.  There were many nationalities, languages and religions (the only unity was the Romanov dynasty).
3.  Russia was vast – 125 million people spread across Europe and Asia.   This made government difficult, especially because of poor communications – bad roads and few railways.
4.  An out-of-date farming economy.   Most of the population were peasants who lived in the country and are under the control of the nobles.  
5.  Russia was beginning to industrialise (eg Trans-Siberian railway, 1904).   Towns/ factories were starting to grow up.   But there was worker poverty and poor living conditions – which created a large workforce, disaffected and concentrated in Petrograd, the capital.   Also a small wealthier middle class were beginning to want a say in the government.
6.  Tsar Nicholas was an autocrat –  Nicholas carried out all the business of government alone, without even a secretary, an impossible load   He was a weak Tsar.   At first he refused to compromise then, in the crisis of 1917, failed to act.
7.  There was opposition to the government from:
· The Kadets - middle classes and liberal landowners who wanted Russia to have a Parliament like England.
· Social Revolutionaries (wanted a peasant revolution, and to take all the land from the nobles). 
· The Communists (followers of Karl Marx), who were divided into the moderate Mensheviks (wanted Communism without a revolution) and the extremist Bolsheviks 
 (wanted a violent proletarian revolution). 
· After 1900, there were many assassinations and protests (eg Bloody Sunday, 1905 and the murder of Prime Minister Stolypin in 1911).
Did you Know?
There were FOUR Dumas, 1905-17:
The first Duma (May 1905) was dominated by the Kadets - Nicholas dismissed it in July 1905.
The second Duma (February 1907) was dominated by the Social Revolutionaries - Nicholas dismissed it in June 1907.
The third Duma (November 1907) was dominated by the Octobrists and Rights - it lasted its full term to 1912.
The fourth Duma was also full of  the Tsar's supporters, although many turned against him during the First World War - it lasted until 1917.
·    Problems of the Provisional Government 
The February Revolution

   

In March 1917 crowds rioted on the streets.   The soldiers joined them.   Then the members of the Duma joined the rebellion; they forced the Tsar to abdicate.
 
1  Weakness of Russia
Underlay everything (see weaknesses 1–7)

 

2  World War I
The First World War 
 was the key factor.  
The army was badly led and poorly equipped.   Russian defeats at Tannenberg and Masurian Lakes – the Russians lost 200,000 men – lost the government the support of the army.  
The war took 15 million men from the farms and trains had to be used for the war (so they could not bring food to the cities) so there were food shortages and food prices rose, all of which created anger and unrest in Petrograd
The winter of 1916–17 was severe.   Food shortages got worse – there was a famine in the cities.
 

3  Tsar’s Mistakes
The Tsar took personal command of the army  – which did not help the war effort and meant he was blamed for the defeats.   
He left the Tsarina in charge.   She was incompetent (she let Rasputin run the government), and (because she was a German) rumours circulated that she was trying to help Germany to win.
By February 1917 the government was in chaos.
Finally, in the crisis, Nicholas went to pieces and failed to do anything (see Source A).
 

4   Army abandoned the Tsar
On 8 March 1917, there were riots in Petrograd about the food shortages and the war.
On 12 March the Army abandoned the Tsar – the soldiers mutinied and refused to put down the riots.   The government lost control of the country.
 

5   Duma abandoned the Tsar
On 13 March members of the Duma went to Nicholas to tell him to abdicate.  
     




	Problems/ Weaknesses
	Action  
	Success/
 Failure?

	Government

The Petrograd Soviet was very powerful – it built up a nation-wide network of Soviets which took their orders from it.

Order Number 1 forbade soldiers and workers to obey the provisional Government unless the Soviet agreed.

       (ie the govt. was powerless to act unless the Soviet agreed.)  

  
	   

The Provisional Government did nothing to try to end the power of the Soviets.  
	 

	Terrible conditions

Inflation and hunger got worse because the war didn’t end.

       (ie the people stayed angry.)  

  
	   

The Provisional Government didn’t manage to end the food shortages or inflation.  
	 

	Peasants

Started taking the nobles land.

       (ie anarchy in the countryside.)  
	   

The Provisional Government sent troops to take back the land.   This made the peasants very angry  

  
	 

	War

The Provisional Government tried to continue the war.   It attacked Austria in June 1917, but after initial successes, the Germans moved in and the Russians were defeated.   Soldiers deserted. There was a naval mutiny

       (ie the war was a disaster.)  

  
	   

The Provisional Government set up ‘death squads’ to execute deserters. This made things worse – by October 1917, soldiers were deserting, going home, killing the landlords, and taking land.  
	 

	Bolsheviks

Lenin returned and published his plans for Russia: the ‘April Theses’ (‘Peace, Bread, Land’; ‘all power to the Soviets’; state ownership of factories and banks).

They tried to take over the government by rioting in the ‘July Days’.

      (ie government under attack)  
	   

The Provisional Government allowed freedom of speech and the press, and released political prisoners

After the July Days, the Provisional Government arrested the leaders, but let the Bolshevik Party continue.

This HELPED the Bolsheviks.  

  
	 

	Kornilov

Kornilov tried a right-wing/ pro-Tsar army coup in August 1917.

      (ie government under attack)  

 
	   

The Provisional Government had no control of the army and had to ask the Bolsheviks to help it.   This made the government seem weak AND made the Bolsheviks popular (they took control of the Soviets).
	 



Source A

In the introduction to these units I quoted Hannah Arendt's 'noteworthy fact' that we do not expect governments to survive defeat in modern war.   Defeat worsened the problems created by the war: it undermined the authorities' faith in themselves; it undermined the military, the last line of defence of the government...   Kerensky was unable to establish and maintain control in Russia arguably because of his determination to continue the war in the teeth of popular hostility, and because of his inability to provide land for the peasants and food for the population as a whole.
Clive Emsley and David Englander, The Russian and German Revolutions (1990)
Emsley and Englander were writing the textbook for the Open University course: War, Peace and Social Change.   Hannah Arendt, writing in 1963, had claimed: 'we almost automatically expect that no government will be strong enough to survive defeat in war', and that revolutionary change was 'among the most certain consequences' of defeat in modern war.   Emsley and Englander were applying her theory to the Russian Revolution.
  

Source B

The Provisional Government ... had many weaknesses:
· It was made up of too many political groups - it was hard for them to agree on policies.

· It wanted to leave most decisions until the new government was elected, even the redistribution of land that the peasants wanted.   This made the Provisional Government look even weaker...

· It decided to go on fighting the war...

· The Petrograd Soviet ... was well organised and had clear aims...

Tony Hewitt and Jane Shuter, Modern World History (2001)
Hewitt and Shuter were writing a simplified textbook for less able pupils doing GCSE Hist
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